== A
N & o & AF & H A A
20218 & =0l & L BHSI A AHE It
A
Hu: pEnE T4 Y 84
Sl FHYEA (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
AHE 22,623,605 17,707,431 4,916,174
= 7,595,365
s 724,400
< 3,512,140
s 10,791,700
AR XY Y F4 10,574,545 9,925,614 648,931
= 4,416,070
< 1,244,274
i 4,914,201
ZHEXEH 502,005 1,027,037 A 525,032
= 198,049
= 86,270
s 217,686
TEMSX 44,776 102,777 A 58,001
201 2et2d]| 14,776 13,386 1,390
01 At 2teltl 10,956 9,566 1,390
OalZSgdAt Z4 8,000& x500H 4,000
OA=gdaiAs 2272 1,000, 000& *14] 1,000
oggel sotstis =35+
2,500,000 » 14! 2,500
OUYZTHAD =T SHI(5Y)
6,4003 x5H x9U x 128 3,456
02 =224l 3,820 3,820 0
OME XL ZAXE KA 22l 3,820
— NSN3 160, 0002 = 1CH 160
- skt 282 600,000& = 1CH 600
—SINERES 60,0002 = 1CH 60
— S5 ¥ KA 3,000,000 =1CH 3,000
206 M= Hl 30,000 10,000 20,000
01 =8l 30,000 10,000 20,000
OR0 U2 UEoFI A 22 79
7,500& *4,000= 30,000
Aol SOt Ua N X 33,000 0 33,000
< 18,000
[ia 15,000
307 21201 A 33,000 0 33,000
< 18,000
[ia 15,000
04 QIZFHALAIH B = 33,000 0 33,000
OHM183 Aol sor=2tHal Mzl XA
33,000,000% =14l 33,000
= 18,000
s 15,000
TE(EHMEEYH) 414,070 436,037 A 21,967
= 192,970




SRR}
Hu: pEnE T4 Y 84
Sl FMATY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 66,330
s 154,770
401 Al HIZ 201 I 414,070 436,037 A21,967
= 192,970
< 66,330
s 154,770
01 A& HI 382,104 402,374 A 20,270
OZ M =4 (110ha) 414,070,000 *92.28/100 382,104
= 178,073
< 61,209
s 142,822
02 Zeltl 28,985 30,523 A 1,538
OB M E=4(110ha) 414,070,000% *7/100 28,985
= 13,508
< 4,643
e 10,834
03 A& S THHI 2,981 3,140 A 159
OZ M =4 (110ha)
414,070,000& *0.7199/100 2,981
= 1,389
< 478
e 1,114
SHHE SESH(XINH)(SHEAIIBFTH) 1,840 1,000 840
= 920
< 276
e 644
202 oddl 1,840 1,000 840
= 920
= 276
s 644
01 = LH o4 1l 1,840 1,000 840
OS2 2 20,0003 »1&H 02 1,840
=2 920
< 276
[ia 644
ArsE MEZIAE Y 8,319 10,583 A2,264
= 4,159
= 1,664
s 2,496
401 AIEHI L 20 8,319 8,183 136
= 4,159
< 1,664
[ia 2,496
01 A& Bl 8,319 8,183 136
Oarzi AL &N 24 (400ha)
8,319,000& » 14! 8,319
= 4,159
< 1,664




2N
X ZH -
L= B

el

U

Bl

0 py
0x
Ho
o

=

oY iz rx
o
oo K

0x

SN P SA(EN) - MBAY - BES

=
i

2

HJ

2,496

[
gy
10
A
it

MR

545,610
217,935

98,302
229,373

849,897

A 304,287

Mo A

325,350
162,675

48,802
113,873

265,100

60,250

401 AIEHIZ 2 I

Mo A

325,350
162,675

48,802
113,873

265,100

60,250

01 A& HI

02 Zeltl

s

03 Al 2 TH

o2u

-

o2u2zAxyY

SEINE-EE

gOIEBI

(27ha)

325,350,000& %96.2999/100

(27ha)

325,350,000& *3.1999/100

(27ha)

325,350,000& *0.50/100

HHmn A H M

Mo

313,312

313,312

156,656
46,997
109,659

10,411

10,411

5,206
1,561
3,644

1,627

1,627
813
244
570

257,147

7,953

56,165

10,411

6,326

ZE(DMEX 2URE

g)

MW

220,260
55,260
49,500

115,500

564,964

N 344,704

401 AIEHIZ 2 I

MW

220,260
55,260
49,500

115,500

564,964

N 344,704

01 A& HI

02 2feldl

OBIMZX 22 E8(15ha)
20,260, 000% *96.9995/100

OBIMZ2X 2L X8 (15ha)
220,260,000 *3/100

Mo A

213,652

213,652

53,602
48,015
112,035

6,608

6,608

550,105

11,300

N 336,453

N4,692




A
Hm: pENE T Y 84
ol 2UREyY CER-ED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 1,658
= 1,485
= 3,465
=02 = IR0 3,676,630 5,094,953 A 1,418,323
= 2,138,315
[ 461,494
s 1,076,821
HEI PRI (FHRIIAY) 482,172 1,080,504 598,332
= 241,086
< 72,325
s 168,761
401 Al HIZ S THY| 482,172 1,080,504 598,332
= 241,086
< 72,325
s 168,761
01 A& HI 469,285 1,024,462 AB55, 177
OZLRIt31 I (40ha) 61,270,000% *97.15/100 59,524
= 29,762
< 8,929
[ia 20,833
OO &l Lt IR I1(250ha)
382,934,0002 *97.39/100 372,940
= 186,470
< 55,941
s 130,529
O&r20le =2Jt3RI1(10ha)
37,968,000 *96.979/100 36,821
= 18,411
= 5,523
[ia 12,887
02 Zeltl 10,130 51,314 A41,184
O2U 2111 (40ha) 61,270,000 *2.849/100 1,746
= 873
= 261
i 612
OO Lt IR I[(250ha)
382,934,000% *1.8897/100 7,237
= 3,619
< 1,085
= 2,533
Odt=0le =211 I (10ha)
37,968,000& *3.02/100 1,147
= 573
< 172
fia 402
03 AIE 2 0H I 2,757 4,728 21,971
OO & Lt IR I1(250ha)
382,934,000% *0.7199/100 2,757
= 1,378
< 414




2N
X ZH -
L= B

el

H> = rx

2
YRR T4 L 4
o2 & JH3ol

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| o 965
HEM=IRI| (XS X IHRDI) 1,531,738 2,512,049 A 980,311
= 765,869
o 229,761
= 536, 108
401 AlEHI 2L 2 0HY| 1,531,738 2,512,049 A 980,311
= 765,869
o 229,761
= 536, 108
01 Al&H| 1,415,326 2,324,524 A 909, 198
OXE XIFRIIAFY (1,000ha)
1,531,738,000& %92.4/100 1,415,326
= 707,663
&< 212,299
= 495,364
02 2teld| 110,285 180,868 ANT70,583
OXE XIbRIIAY (1,000ha)
1,531,738,000& *7.19999/ 100 110,285
= 55,142
& 16,543
= 38,600
03 AlE 21| 6,127 6,657 A B30
OXS XIbRIIAY (1,000na)
1,531,738,000& x0.4/100 6,127
= 3,064
& 919
= 2,144
HM=I R (M S AIAFHET]) 1,500,000 1,502,400 N 2,400
= 1,050,000
o=t 135,000
= 315,000
402 SI2F X201 M 1,500,000 1,500,000 0
= 1,050,000
& 135,000
= 315,000
03 QI 2H2 EF A HI 1,500,000 1,500,000 0
O s IACX 1,500,000, 000! * 14! 1,500,000
= 1,050,000
o= 135,000
= 315,000
22 =JIRJ]| 162,720 0 162,720
= 81,360
= 24,408
= 56,952
401 Al HI L £ 0HHI 162,720 0 162,720
= 81,360
= 24,408
= 56,952




SRR}
Hu: pEnE T4 Y 84
el =02 = IR CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 157,871 0 157,871
O3 =t (60ha)
162,720,000 *97.02/100 157,871
= 78,935
< 23,681
s 55,255
02 Zeltl 3,678 0 3,678
O399 =Jt1I|(60ha) 162,720,000% *2.26/100 3,678
= 1,839
< 552
s 1,287
03 Al 2 THHI 1,171 0 1,171
O3 =t 71(60ha)
162,720,000 *0.7191/100 1,171
= 586
< 175
s 410
S&2 FH| 579,887 576,723 3,164
= 260,000
s 319,887
=g zel () 59,887 56,723 3,164
101 @14l 29,887 26,723 3,164
4 J12ZtHZ22 s+ 29,887 26,723 3,164
OStZ o MSF F8 HEXY(4Y 29,887
= 72,1203 *4B »212 «33 18,175
F=e4y 72,1209 *4% + 123 3,462
-5 +E 72,1203 »4F 9 2,597
— XY 78,1203 »4H +3L 938
— Sl 2,000 «4H 212 33 504
— =2l 4,000 4«21«38 1,008
— 428 = 26,685,000 *12% 3,203
401 A& HIZ 201 Y| 30,000 30,000 0
01 A& HI 30,000 30,000 0
S&2 AIE2 EHl S |A2a
40,000& x750m’ 30,000
=L L2 (M2) (S22 FH)(HEAY) 520,000 520,000 0
< 260,000
s 260,000
201 €24l 10,000 9,536 464
< 5,000
s 5,000
01 At 22l 8,500 8,036 464
OS&z HUIAY Xt XH(HEH
850,000& x1CH+10& 8,500
< 4,250




2N
X ZH -
L= B

el

Off &t 24

=
i

2

e
A2 FHIALY Xt FXIHI(&E)
150, 000& »1CH =102

UL

4,250
1,500

1,500

750
750

1,500

401 AIE2HIZ

i
o
=

Mo

510,000

255,000
255,000

510,464

AN 464

01 A& HI

OODtol &t 2% 8HE ZdA
310,000, 000& x97.22/100

200,000, 000& *97.02/100

02 2feldl

OOFOl&H = 8BHE ZHA (HE)
310,000,000& *2.06/100

OS¢tz HUIAE (M)
200,000, 000& *2.26/100

03 Al4 2 CHHI

OOFOI&H =Y 8HE ZHAY (HE)
310,000,000 *0.72/100

OStz HUIAE (M)
200,000, 000& *0.72/100

VR

UL

EURLY

EURLY

M

Mo

495,422

301,382

150,691
150,691

194,040
97,020
97,020

10,906

6,386

3,193
,193

w

,520

,260
,260

672

W NN

2,232

1,116
1,116

1,440

720
720

502,484

4,304

3,676

AT,062

6,602

Ay

Mo R

412,773

88
31
292

,986
137
,050

389,576

23,197

Mo R

21,125
10,562
3,169
7,394

20,832

293

Mo R

20,625
10,312
3,094
7,219

20,332

293




SRR}
M MNE X4 2 R4
ool MEMHIASEA EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 20,625 20,332 293
OZA=X2cd (1) 20,625
—Jl=s 69,7603« 1H+202 «10& 13,952
= 6,976
< 2,093
fia 4,883
- =54 69,7603 1Y x40 2,791
= 1,395
< 419
s 977
—ResgsE 69,7603 x1H 9 628
= 314
= 94
s 220
—x==g 69,760& x1H 10 698
2 349
< 105
[ia 244
— 42 = 18,069,000& *12% 2,169
= 1,085
< 325
s 759
— W=l 387,000 x1H x13] 387
= 193
= 58
[ia 136
201 et 500 500 0
= 250
< 75
i 175
01 At 2teltl 500 500 0
OZA=A 223 257 100,000& 58 500
= 250
= 75
i 175
AEMHAZR0 2SN (=L HE XS A 21,124 20,832 292
= 10,562
< 3,169
s 7,393
101 @14 Hl 20,814 20,605 209
= 10,407
< 3,122
s 7,285
04 JIZHHZ22XRHEE S 20,814 20,605 209
O=ZHMEXNZA(1Y) 20,814
—Jl=s 69,7603 x 1 212 +9.999& 14,649
= 7,325
< 2,196




A
Hu: MRIlE XA W 84
el ARIMHIAZA CER-ED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o 5,128
- =54 69,7603 x1H x40 2,791
= 1,395
< 419
i 977
— QX 69,7603 x1H 102 698
- 349
< 105
i 244
—4UE2E= 18, 133,000& *12% 2,176
= 1,088
< 326
s 762
— W=l 250,000& x 18«13 250
= 125
< 38
s 87
—&g=s ¥ oHEE S 250,000 * 138 250
= 125
= 38
s 87
201 2yt 2 Y| 310 227 83
2 155
= 47
s 108
01 At 2teltl 310 227 83
Osuz Fdl=3 ¢ 310,000& 18 310
= 155
[ 47
s 108
MNEMSSIHUM(ER) 63,600 41,600 22,000
= 31,800
< 9,540
= 22,260
101 14 dl 63,600 41,600 22,000
= 31,800
< 9,540
= 22,260
04 DI Z2XREE S 63,600 41,600 22,000
OKENS2Z LM (3Y) 63,600
—JlEs 1,800,000& x3H x11& 59,400
= 29,700
S 8,910
= 20,790
— W =H| 450,000 x3Y x23] 2,700
= 1,350
< 405
s 945
—28= 250,000& *3H +23| 1,500




2N
X ZH -
L= B

el

A}
MEXY ZH Y 4
NEMHIAST

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

= 750
= 225
= 525

MENUIAER0] 29X 2 (ol &0 51,000 51,000 0
= 25,500
< 7,650
s 17,850

201 £B-2d| 51,000 51,000 0
= 25,500
< 7,650
s 17,850

01 At 2t 2l 51,000 51,000 0
O=dl&Il 29 (2¥) 51,000,000 =104 2 51,000
= 25,500
< 7,650
s 17,850

M NHA S0 2SN (4= 2CUO0EH) 21,124 20,832 292
= 10,562
< 3,169
e 7,393

101 124 dl 20,624 20,332 292
= 10,312
< 3,094
[ 7,218

M4 JI12ZHZEXNSES 20,624 20,332 292
OZ4&= ICIUIOIEH (1Y) 20,624
—Jlas 69,7603 x1H*x20 x10& 13,952
= 6,976
< 2,093
[ia 4,883
— T4 69,7603 x1H *40=F 2,791
= 1,395
= 419
s 977
—SE5g+E 69,7603 »1H 9 628
= 314
== 94
[ia 220
—oixtay 69,7602 * 12 102 698
= 349
< 105
s 244
—4EE = 18,069,000& * 12% 2,169
= 1,085
< 325
[ 759
— W=l 386,000& »1H 386
= 193
< 58




2N
X ZH -
L= B

el

A}
MEXY ZH Y 4
NEMHIAST

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

HJ

135

MR

500
250

75
175

500

@)
02 0
ke
>
kU

cluiolel 23+

100,000& *5&

UL RN

500

500
250

75
175

500

AR MEBIAZR0] 22 N (ZZMEXZAH(ZHI)

M H

16,800

5,040
11,760

16,480

320

101 @124 H]

EURLY

16,751
5,025
11,726

16,331

420

1
Jon
1
o

|
e
>
1
0

—Jles 69,760 x1H 212 +«8&

69,7603 x1H x31.99F

69,760% «1H +7.99&

14,508,080 *12%

250,000 » 1 %13

250,000 15

M H EUNL M EURE Mo

EURE

16,751
16,751
11,720
3,516
8,204
2,232
670
1,562
558
167
391
1,741
522
1,219
250

75

175
250

75
175

16,331

420

Mo

49

34

149

A 100

49,0003 18

EURLY

49
49

34

149

A 100

x
i
o
02
ﬂ
10
=]
mo
o
o
o
o
o
rig
>
©

218,000

218,000

218,000

218,000

218,000

218,000




SN MDY
Hu: pEnE T4 Y 84
Chelr MAEMHIASE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OKE LR R0tSE 24 (&s)(&EH)
218,000,000 =14 218,000
MEES & dEgsEa 2 2,251,429 10,000 2,241,429
= 1,562,000
< 10,000
s 679,429
BEN MEHE =9 2,231,429 0 2,231,429
= 1,562,000
s 669,429
401 AIEHI L 2CHEI 2,231,429 0 2,231,429
= 1,562,000
i 669,429
01 A& Hl 2,190,371 0 2,190,371
OEEMN da=s =&
2,231,429,000& «98.16/100 2,190,371
= 1,533,259
s 657,112
02 Zeltl 33,025 0 33,025
OEEMN de=s =&
2,231,429,000% *1.47999/100 33,025
= 23,118
s 9,907
03 AlE 2 THHI 8,033 0 8,033
OEEMN da=s =&
2,231,429,000% *0.35998/100 8,033
= 5,623
s 2,410
SIOHAE Z3t A A 22t 20,000 10,000 10,000
< 10,000
s 10,000
401 Al B 201 8] 20,000 10,000 10,000
< 10,000
s 10,000
01 A& HI 19,500 10,000 9,500
O=JIHE st AHat B3 ALY
10,000,000 201 2~ *97.5/100 19,500
< 9,750
s 9,750
03 AIE 2 THHI 500 0 500
O=JtatEH 23Rt 22 At
10,000,000 *2J 2~ %2 .5/100 500
< 250
s 250
&P xd F o2 481,299 404,405 76,894
2T ML 481,299 404,405 76,894
101 @124l 224,359 199,965 24,394




SA: A
Hu: MRIlE XA W 84
Sl ¥RF X8 Y 2 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
04 JI2ZtH 22 XNHEE =+ 224,359 199, 965 24,394
20 - 32 22 80,234
—-JI=23 72,1203 *3H*x21L 112 49,980
— W EH| 2,000 x3Hx21U x11& 1,386
=ra s 4,000 *3G*21 x11& 2,772
—F5Y 72,120& x3Y 46 9,953
—F=52dsg 72,1203 *3YH »9 1,948
— BtE G 50,000& *1Hx11& 550
— X E 78,120 *3G 11 2,578
— @ E F It 300,000& *3H 23] 1,800
— 4B = 70,967,000& *12% 8,517
—&g=s 2 oM 250,000& 34 750
OZ2 Mo L ATY 144,125
—-JI23 72,1203 +6H 212 x 102 90,872
— W&l 2,000 x6Hx212d x10& 2,520
=ra s 4,000 x6H*21 10 5,040
—FF5H 72,120 x6Y 423 18,175
— 235 xg 72,1203 x6H 9 3,895
— X< 78,120 x6H x 10 4,688
— @& EIty| 300,000 *6H *23| 3,600
—4EE = 127,790,000& *12% 15,335
201 Bt A | 17,440 17,440 0
01 AFR2 22l Yl 5,000 5,000 0
OZZHNME 22188 7Y 100,000& x50& 5,000
02 332494l 12,440 12,440 0
OLQoRA =& &L M2
120,000& = 12& 1,440
oL L I e A2l
500,000 =20 = 11& 11,000
206 M = Hl 129,500 107,000 22,500
01 M= bl 129,500 107,000 22,500
OsX, 24182 F2¢ 130& 105 *40,0002 52,000
OZIMME MEFIY 7,000& *4,000% 28,000
OZZHMME LM & 7
10,000& x5 x50 L 2,500
OCrelt2t Q28 2 15,000 *1,5009H x23] 45,000
O=sd=H =23 21 7¢
1,000& *x2& x1,0002 2,000
401 Al HI L 2T 110,000 80,000 30,000
01 A& HI 110,000 80,000 30,000
O=4=sH 28 &X 45,000,000& * 14 45,000
Ozole & Zg &X 35,000,000 *14] 35,000




2N
X ZH -
L= B

el

e
SRR XN Y S
%2 x4 L e

SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
| OSZ A HY 30,000,000& x1= 30,000
MOl Tl AFS 438,216 419,567 18,649
= 210,785
& 61,271
- 166, 160
ZZAYIIRI (KX SHRE) (2RI KR FALE) 71,100 70,080 1,020
= 36,225
& 10,463
= 24,412
101 2121 H] 71,100 70,080 1,020
= 36,225
== 10,463
= 24,412
04 JIZtHIZ22XNSEE 71,100 70,080 1,020
OFI PRI XX ASH(3YH) 69,300
-Jl= 69,7603 x3Y¥ 20 x11& 46,042
= 23,020
& 6,676
= 16,346
-—-S=5dsx 69,760 *3YH 9 1,884
= 942
= 280
= 662
— =554 69,760& *3H x453 9,418
= 4,709
& 1,601
= 3,108
— X E 69,7603 *x3H x11& 2,303
= 1,152
= 391
= 760
—4UE2Eg=2 59,647,000& *12% 7,158
= 3,579
& 1,074
- 2,505
— I = 1,145,000& 14! 1,145
= 573
= 171
= 401
— W= 450,000& x3H 13| 1,350
= 1,350
OEPIEPIPNE BN !
180,000& *5& *23| 1,800
= 900
& 270
- 630
TTAYNPIN(ASHRZ) (MU0 24T EF 131,026 192,787 £61,761
)
= 66,263




A
Hm: pENE T Y 84
el =MUTIRlAY (el:de)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 19,430
s 45,333
101 @144 dl 125,010 165,387 N40,377
= 63,255
< 18,527
s 43,228
04 JIZHHZ22XEE S 125,010 165,387 N40,377
OB A =& S (6Y) 125,010
—-Jlas 69,7603 x6H 20«10 83,712
= 41,856
< 12,557
= 29,299
—s=5gdsY 69,7603 x6%F 9 3,768
= 1,884
= 565
s 1,319
- =52 69,7603 x6H x40=F 16,743
= 8,371
= 2,512
i 5,860
— X< 69,760 x6H 108 4,186
= 2,093
= 628
s 1,465
—4HEE = 108,405,000& *12% 13,009
= 6,505
< 1,951
i 4,553
— o=l 2,092,000 » 14! 2,092
= 1,046
S 314
[ia 732
— W=l 250,000& x6H 13| 1,500
= 1,500
201 L2l 6,016 27,400 AN 21,384
= 3,008
< 903
= 2,105
01 At 2t 2l 2,956 11,200 NB,244
O4EHOIQifA=EH 257
,956,000& =14 2,956
= 1,478
= 444
i 1,034
02 =224l 3,060 16,200 A13,140
OXtg & AAIAHEH KX b
170,000 »6CH 33| 3,060
= 1,530
< 459




A
Hu: MRIlE XA W 84
Sl =M RIAY (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| o 1,071
=N RIIHEE 29 142,890 132,200 10,690
= 73,297
< 20,878
s 48,715
101 @144 Hl 118,445 115,700 2,745
= 61,075
< 17,211
s 40,159
04 DI Z22XREE S 118,445 115,700 2,745
O=JIRIIMEE(5Y) 118,445
—JlEs 77,7603 x5 20«10 77,760
= 38,880
< 11,664
= 27,216
- =54 77,7603 x5H x40 15,552
= 7,776
< 2,333
s 5,443
- R4 77,7603 x5H 9 3,500
= 1,750
< 525
s 1,225
—Qlx=g 77,7603 x5H «10& 3,888
= 1,944
< 583
[ia 1,361
—4AEE = 100,700,000& *12% 12,084
= 6,042
< 1,813
s 4,229
— I =l 1,957,000& 14 1,957
= 979
< 293
[ia 685
— W=l 740,800& x5 13| 3,704
= 3,704
201 £B-2d| 24,445 16,500 7,945
= 12,222
< 3,667
= 8,556
01 At 22/l 24,445 16,500 7,945
O=JIRIIHEE & Xz
800,000& x1CH+12& 9,600
= 4,800
= 1,440
s 3,360
O=)RIIMEE 2288 2
296,900& x10& «53| 14,845




SRR}
M MNE X4 2 R4
Sl = MUTRIANY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 7,422
< 2,227
= 5,196
AAINHEH s 70,000 0 70,000
= 35,000
< 10,500
s 24,500
405 XHobF S HI 70,000 0 70,000
= 35,000
< 10,500
s 24,500
01 At EZFH S 70,000 0 70,000
ODAZAI Y 70,000,000& =1 CH 70,000
= 35,000
< 10,500
s 24,500
METHEE 29 23,200 24,500 A 1,300
201 L2l 19,500 19,500 0
02 2324l 19,500 19,500 0
OLYIAHEBHIEZR S 2R3
50,000& x1=s*128 600
OXtg & SHIAHFH =X 2208l
350,000 +9CH x6 2 18,900
202 044l 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OUEHEE FRFE 20,0003 2«53 128 2,400
405 XtAtE SHI 1,300 2,600 A 1,300
01 XML =SS FH SHI 1,300 2,600 A 1,300
OdXS(IHXXIE)FL 650,000& *2H 1,300
tzstdrd & 2324 349,691 325,854 23,837
tsdxd 2 22 5,712 7,650 A 1,938
201 €82l 2,592 2,880 A 288
01 At 22l 2,592 2,880 A 288
OFB=XYL X SH(BH)
10,8003 »4H «52 x12& 2,592
202 04 Hl 3,120 4,770 A1,650
01 = LH 4 Hi 3,120 4,770 A 1,650
OFB=NAL £ (5A)
13,0003 x»4H x5 123 3,120
stet 2 22 2tel 122,753 112,373 10,380
101 @124l 117,753 112,373 5,380
04 JI2ZtHZ22EE = 117,753 112,373 5,380




SRR}
Hu: MRIlE XA W 84
Sel JREATY UL BREY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Ozt Z2A 22| (3470 £, 19km) 117,753
—Jlzs 72,1203 «6H 212 «8& 72,697
-5 72,1202 x6H 35 15,146
—ResgsE 72,1203 x6H 9 3,895
—Qx=g 78,1202 »6H 8 3,750
— WSl 2,000 3 x6H 212 +88 2,016
— =AM 4,000 6«21 »8& 4,032
— ZE SO 300,000 x6Z »23] 3,600
—4dH2E= 105, 136,000& *12% 12,617
201 £B-2dH| 5,000 0 5,000
01 At 2t 2l 5,000 0 5,000
Oster & 22 22| 2272 (d=212e,s0l
< &) 50,0003 x10& *23| 5,000
S22 ZHIDI 221,226 205,831 15,395
101 @124 dl 221,226 205,831 15,395
04 JIZHHZ2Z2XNESE S+ 221,226 205,831 15,395
O==2d ZH I (114 - ™ 393.7km) 221,226
—dots 280,950& *36. 9km*23] 20,735
-2 280,950& %26 . 7km*23| 15,003
— oA 280,950& *27km*23] 15,172
— gy 280,950& %42 .6km*23| 23,937
— &N 280,950& x17. 3km*23] 9,721
— W2 280,950& *48 . 2km*23| 27,084
—d=H 280,950& *63. 2km*23| 35,513
—0tgde 280,950& *19.0km*23] 10,677
-2 280,950& *49 . 0km*23| 27,534
— &8y 280,950& %32 . 8km*23] 18,431
—F=&H 280,950& *31.0km*23| 17,419
= 2 75,000 81,000 A 6,000
< 7,200
fia 67,800
2542 (XA) 51,000 57,000 A 6,000
401 Al HIZ 201 Y| 51,000 57,000 A 6,000
01 A& HI 51,000 57,000 A 6,000
OkH=x 2l 3,000,000& » 15 45,000
O=& Es=+ ZLUH 6,000,000& »1== 6,000
S 24,000 24,000 0
< 7,200
[ia 16,800
401 AIEHI L 201 24,000 24,000 0
< 7,200
[ia 16,800




SRR}
M MNE X4 2 R4
o B4 e CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 23,741 23,741 0
O+ ztel 24,000,000 *98.92/100 23,741
= 7,200
[ia 16,541
03 Al 2 THHI 259 259 0
OEs=s+ &2 24,000,000& *1.079/100 259
2 ¢ Bas 24 1,262,005 746,602 515,403
< 228,000
s 1,034,005
CA=E 2= IIES HE0EE ZEMEOIZ2S 300,000 300,000 0
TH)(HEAMY)
< 150,000
[ia 150,000
401 AIEHI L 20 300,000 300,000 0
< 150,000
e 150,000
01 A& HI 292,500 292,500 0
OJt2 =24 (2.5km) (& &)
300,000,000& *97.5/100 292,500
= 150,000
[ia 142,500
03 Al =2 THHI 7,500 7,500 0
O =X 4 (2.5km) (& &)
300,000,000 *2.5/100 7,500
SN, &=, 2, 60,000 60,000 0
HEMS= 8 M (o= d)(HEAMY)
< 30,000
fia 30,000
401 Al HI K 201 I 60,000 60,000 0
< 30,000
s 30,000
01 A& HI 59,460 59,460 0
O%as Z8(1a)(HE)
60,000,000& *99. 1/100 59,460
< 30,000
s 29,460
03 AlE 2 THHI 540 540 0
O%as Z8(1a)(HE)
60,000,000& *0.9/100 540
LIRSS I (HEAS) 60,000 60,000 0
< 48,000
[ia 12,000
401 A& HIZ 201 Y| 60,000 60,000 0
< 48,000
s 12,000
01 A& HI 59,460 59,460 0




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
OU=cd =4(d8) 60,000,002 +99.1/100 59,460
< 48,000
[ia 11,460
03 Al S HHI 540 540 0
ou=xed =4(™&) 60,000,000 *0.90/100 540
2485 25 222 LMY 500,000 0 500,000
401 Al HI K 201 I 500,000 0 500,000
01 A& tI 495,500 0 495,500
OYE #x% 22 X4 AZ(4.0km)
500,000, 000& *99. 1/100 495,500
03 Al =20 HI 4,500 0 4,500
OYE BXE 22 X4 A (4.0km)
500,000,000& *0.9/100 4,500
2 2el 282,124 271,495 10,629
101 @124l 244,024 234,645 9,379
04 JIZHHZ2Z2XNSE =+ 244,024 234,645 9,379
OJrzztd Fdl (1184 72k, 320.27km) 244,024
—Jlegs 72,1203 x10E 212102 151,452
— Sl 2,0003 «10E+212«108 4,200
— =AM 4,000 *10¥»212 <102 8,400
—x=52Y9 72,1202 ¥ 108 #4235 30,291
B = A= Eg =y 72,1203 x 109 x9 6,491
—BtEd 50,000& x2&H 102 1,000
—Qx=g 78,1203 x 10«10 7,812
— BE S| 300,000& x10H #23| 6,000
— 40 2= 215,646,000 *12% 25,878
— s ¥ odE 250,000& x10H 2,500
201 et 10,000 9,000 1,000
01 At 22l 5,000 5,000 0
OJt2= 2288 FL(M=d12e, s=gM
g2 ) 250,000 x10& 23] 5,000
02 2324l 5,000 4,000 1,000
OJtz+ Zelxtg & &Hl |X 22l
250,000& *4CH 53] 5,000
206 T2 HI 25,000 25,000 0
01 M2 4l 25,000 25,000 0
OJz+ dolls2H 2 7
15,000& 2000 23| 6,000
Oz 22 Dg=gdlz 22
30,000& 1002 3,000
Otz xRz 220U ¢
3,000& x3,0004 9,000




S A
Hu: MRIlE XA W 84
Sel Jt24 U YYE X4 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Oz skt #¢ 70,000& 12 *100H 7,000
405 XHo&HF S HI 3,100 2,850 250
01 JHAHE 2 E F S H 3,100 2,850 250
ou=J] =¢ 600,000& *3CH 1,800
OdXE ¢ 650, 000& =24 1,300
NEAHEZ 22 39,253 36,071 3,182
101 2124 d| 39,253 36,071 3,182
04 JIZtHIZ22NSE S 39,253 36,071 3,182
OXNEHE=Z 22l (12.8km) 39,253
—-J|I=22 72,1203 *2Y »21 «8& 24,233
—F5Y 72,120% x2H x35F 5,049
—R235gdg 72,120 *»2H 9 1,299
— ARG 78,120% 2 8L 1,250
— WEH| 2,000 x2H x21 x8 & 672
= s 4,000& x2H »21 +8& 1,344
— @& 50| 300,000& x2H x23| 1,200
—4AEE = 35,047,000& *12% 4,206
L2228 E X 22 20,628 19,036 1,592
101 2121 d| 19,628 18,036 1,592
04 JIZtHIZ2E2XNSE S 19,628 18,036 1,592
oueaed L 22|(4.5ha) 19,628
—-JI=23 72,1203 1Y »212 x8& 12,117
—F524 72,120 *1H x35F 2,525
— 235 xg 72,1203 *1¥ 90 650
— AX =G 78,120 » 1 8L 625
— W EH| 2,0003 x1H+x212 «8& 336
— 24| 4,000 *1H x21 82 672
—HE50} 300,000 x1H 23] 600
—4EE = 17,525,000 *x12% 2,103
201 Yere2 | 1,000 1,000 0
01 At 22l bl 1,000 1,000 0
ou=28 Zxae 22 (=22, 50|
9 5) 100,000& 58 x23| 1,000
=K X2 1,306,297 1,925,679 N619,382
rag 100,000
= 200,000
= 1,006,297
TA=E & 0l =4 703,480 704,557 N 1,077
& 200,000
= 503,480




SRR}
B ZE=N x4
@2 TA= ¥ 0tss =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SAN=, S&s, 2, 300,000 300,000 0
HEMSE S ZEMY(ZA=E ZE)(HEAY)
< 150,000
[ia 150,000
401 AIEHI L 20 300,000 300,000 0
< 150,000
e 150,000
01 A& HI 286,140 292,500 A6,360
OA%E E4(0.5ma) (D &)
300,000,000% *95.38/100 286,140
= 150,000
s 136,140
02 2eltl 6,360 0 6,360
OZAl#E Z4(0.5ha) (& &)
300,000,000& *2.12/100 6,360
03 A& 2 THHI 7,500 7,500 0
OZ A& Z4(0.5ha) (& &)
300,000,000& *2.5/100 7,500
SN, &=, 2, 100,000 100,000 0
HEltss S Z4AME
(HE0ts==)(dEAY)
< 50,000
[ia 50,000
401 AIEHI L 2 CHYI 100,000 100,000 0
< 50,000
[ia 50,000
01 A& HI 99,100 99,100 0
OdSoSE S (1HA)(HE)
100, 000,000& *99.10/100 99,100
< 50,000
s 49,100
03 Al S THHI 900 900 0
OFSOSE S (1HA)(HE)
100, 000,000& *0.90/100 900
SANs ¥ S32e 295,730 269,307 26,423
101 14l 255,130 234,457 20,673
4 DIt ZEXNESES 255,130 234,457 20,673
OSAl%E 22/(48MA, SA3MA) 255,130
—Jlas 72,1203 «13Z «21 83 157,511
- &5 72,1203 x13H +35=F 32,815
—Se5gdsE 72,1203 x13F 9 8,439
— XY 78,1203 x 13 8L 8,125
— Sl 2,0003 «13F 212 «8& 4,368
— =AM 4,000% *13H »212 «8 & 8,736
— ZE S| 300,000& x13H *23| 7,800




A
dM: =X zd2el
Sl TAE ¥ OS® X4 (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
— 428 = 227,794,000 x12% 27,336
201 et 9,000 14,000 A5,000
01 At 22l 9,000 14,000 A5,000
OSA%: % ¥ 22SE 79
50,000 x18& 103 9,000
206 M= Hl 18,000 18,000 0
01 = bl 18,000 18,000 0
ORJI&EbHz =< 9,000& x1,000L 9,000
Ogoi=2H 4H 2 15,000& 2000 23| 6,000
Olng=sgdla Y 30,000& =100 3,000
401 AIEBIZ 201 8I 10,500 0 10,500
01 A& Bl 10,500 0 10,500
OEAMN= & 3 23017 =&l
350,000& x30& 10,500
405 XHobE S HI 3,100 2,850 250
01 AL EFH S 3,100 2,850 250
OWl=2J1+7< 600,000& +3CH 1,800
Odzs+¢ 650,000 »2CH 1,300
EEs d=sls=s 22 7,750 5,250 2,500
201 L2l 4,500 3,000 1,500
01 At 22l 2,500 2,000 500
OEdsd=Elss H2es32d(M=012Y,
SHEMY S) 250,000& x10& =13 2,500
02 23224l 2,000 1,000 1,000
OJIAHEH X Zeldl (=21, &FI|, JIA
s S) 200,000 x5CH 23] 2,000
206 M= Hl 2,250 2,250 0
01 = Hl 2,250 2,250 0
Odois&H 2HM 2 15,000& *30J4 *32l 1,350
ORJI&bz =< 9,000& 1002 900
405 RHoHF S HI 1,000 0 1,000
01 XY 2 ZF S| 1,000 0 1,000
OdsdZI ¢ 500,000 *2H 1,000
AFSEXELR 354,358 195,042 159,316
AOEEENR 2l 354,358 195,042 159,316
101 124 dl 222,438 138, 122 84,316
04 12t Z2XEES 222,438 138, 122 84,316
O&ttXE2 H=ZY 135,592
—Jlas 72,1203 +x7H 21U «8& 84,814
— WSl 2,000 x7H »212 «8 2,352




SN S

M Za=x Fae
Ehel: AMorXEL2 (el &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
— 2 Al 4,000& *7H »21 »8& 4,704
—F5Y 72,120 *7H %363 18,175
PN 78,120& x7H 8 4,375
—F=5dsg 72,1203 *7H 9 4,544
— H@E Sty 300,000 *x7H 13| 2,100
—4EE = 121,064,000& *12% 14,528
Ottt xEr2 2l 86,846
—-J|I=23 72,1203 *3H 212 x12& 54,523
— NSl 2,000 x3Yx21d x12& 1,512
=] 4,000& *3Y*x21 x12& 3,024
—F5Y 72,120& x3Y x523 11,251
PN 78, 120& *3H x 12 2,813
—HF=5dsg 72,120 *3YH 9 1,948
— @& Sty 300,000& *3H 23| 1,800
—4EE= 76,871,000& *12% 9,225
—&gs 2 ortNG 250,000& *3H 750
201 et A | 25,420 19,220 6,200
01 AFR22t2ldl 6,500 4,500 2,000
OdtekxEtE 22l 237
200,000& 108 *23| 4,000
OdtekxElE E2 2E3 HE  5,000& *5000H4 2,500
02 324l 18,920 14,720 4,200
O3 XZYAIE KX H| 3,000,000& x 14 3,000
OZ&xH &2 1,000,000& x12& 12,000
OJIHEH = X2elbl 200, 000& *x50H x23] 2,000
ONtExEIR2 D22 160,000& = 12& 1,920
206 TH 2 HI 16,500 16,500 0
01 X2 Hl 16,500 16,500 0
ORJI&8dlg #+¢ 9,000& *500 %L 4,500
OddisgH «H 2 20,000& = 1004 2,000
OR=s ¥ 34 7¢ 200,000& 105 *53] 10,000
401 Al HI L 2T 90,000 20,000 70,000
01 Al &bl 90,000 20,000 70,000
Ol XEIR AIEE KA 22
30,000, 0003 *14] 30,000
OftSExE2 HIaAAS WA 100, 000& *100m* 10,000
ONSkxES HIEY LME S ALY
5,000, 000& =10 2 50,000
L= 248,459 1,026,080 ATT7,621
= 100,000
= 148,459
NMESE 29 48,459 826,080 NTT7,621




SA A
B Fp=q zaBe
el MR R (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
101 14 Hl 23,959 22,980 979
04 JIZHHZ22XREES 23,959 22,980 979
O=HMej2elel(1y) 23,959
—Jlzs 72,1203« 1H+212+108 15,146
-5 72,1203 x 1 x42F 3,030
— XY 78,1203 x 1 %10 782
— WSl 2,0003 «1H*212 108 420
— =24l 4,000 1H 212 102 840
—Re5gsE 72,1202 »1H +x9 650
— ZE SO 300,000 x1H *13] 300
— 428 = 21,168,000 *12% 2,541
—mY= U otFg 250, 0008 * 140 %12 250
201 et 4,500 3,500 1,000
01 At 22l 1,200 1,200 0
Ot 2| tlx=JIY & 37F% ¢
200,000 x6 & 1,200
02 2324l 3,300 2,300 1,000
O=%g A3t HEE 500,000& » 14! 500
Oz MEEH MIIRS 100,000& »12& 1,200
osgu=2l & JIHs &% *¢
50,000 +2CH *6 2 600
OH = AHIE CCTVE S 1,000,000 *14 1,000
401 AIEHIZ 28I 20,000 796,000 AT776,000
01 A& Hl 20,000 796,000 AT76,000
oug=d AId2 dHl § sX22
500,000& *40m 20,000
ANosgHIL(ME=2TES) 200,000 200,000 0
s 100,000
= 100,000
401 AIEHI L 20 200,000 200,000 0
s 100,000
[ia 100,000
01 A& HI 195,000 198,560 A 3,560
odtd=Z Fl 200,000,000& *97.5/100 195,000
s 97,500
s 97,500
03 AlE S THHI 5,000 1,440 3,560
Ooug =z FH 200,000,000 *2.5/100 5,000
s 2,500
[ia 2,500
e YA 23t 813,801 838,656 A 24,855
= 324,262
< 140,671




SN MDY
a9 FMY L
Sl UALS HHE N (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 348,868
ars Edst N2 18,828 21,834 A 3,006
< 2,952
s 15,876
MHELAS 243 AR 4,068 7,074 A 3,006
201 £B-2dH| 1,728 2,304 A576
01 At 22l 1,728 2,304 A576
OUEASYD 2T 2YH(BH)
7,200 x4H 5«12 1,728
202 O4dl 2,340 4,770 A 2,430
01 = LH 4 Hi 2,340 4,770 A 2,430
OMEASAD 2 (5Y)
9,750 *4B 52 «12& 2,340
Aol HEAAMX B3 14,760 14,760 0
< 2,952
= 11,808
201 Let24d] 14,760 14,760 0
< 2,952
s 11,808
01 At 22/l 14,760 14,760 0
Od=Z g M2 B3 72,0003 2055 14,760
< 2,952
i 11,808
e ASSH ¥ M5B 2438 783,373 776,222 7,151
= 324,262
< 137,719
s 321,392
SHEIEUY B3 (FH8) 5,600 14,000 A 8,400
= 2,400
< 960
s 2,240
402 BI2FX=201 M 5,600 14,000 A 8,400
= 2,400
< 960
s 2,240
02 QI EAILSEZ (01X S) 5,600 14,000 A 8,400
OsSMEEded X2 (20)
8,000, 000& *70/100 5,600
= 2,400
< 960
e 2,240
SHEIELY BES(MI=XE) 8,000 8,000 0
= 4,000
< 1,200
s 2,800




2N
X ZH -
L= B

el

-

19 19 0
o ¥

0o 0o rx

°

F

235t

CH

Jn Jg

B 0%
0l
(u]

|

[NE-TR=: e A

“ao

1

t

tol

il

ir
x

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

402

22tit=01 &

HH A

8,
4,
1,
2,

000
000
200
800

8,

000

02

SX(0IETHE)

(o]
OsMHzsE2de XI&(20) 4,000,000 «2CH

HH A

8,
8,

4,
,200
,800

000
000
000

8,

000

Mo A

75
30

31

,000

,000
,500
,500

143,

085

A 68,085

402

I2txt=01 &

Mo A

75
30

31

,000

,000
,500
,500

143,

085

A 68,085

02

QIZEX 2 A S 2= (0 MTHA )

Ogetg &ZEsh XA (15HL)

150,000, 000& x50/ 100

MW

75

75
30

31

,000

,000
,000
,500
,500

143,

085

A 68,085

0o
rx
THo

10
O
S
T
A
0x

MR

85
34

35

,000
,000
,300
,700

131,

000

A 46,000

402

Mo R

85
34

35

,000
,000
,300
,700

131,

000

A46,000

02

DIZINEASE X (01 &)

ZHE(18HA)

170,000, 000& %50/ 100

UL IY

85

85
34

,000

,000
,000
,300
,700

131,

000

A 46,000

z

>
<
e
R
0z

Mo H

,000
,000
,700
,300

,000

A 4,000

402

Mo

,000
,000
,700
,300

,000

A 4,000

02

DI EASE X (01 &)

Oats MADIE ZH(4H)

30,000, 000& *50/100

,000

,000

,000

24,000




2N
X ZH -
L= B
el

e
A AW L3
ool ASEH Y MFAY B

(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 6,000
= 2,700
= 6,300
AR E MACET] (A H) 500,000 339,355 160,645
= 200,000
< 90,000
s 210,000
402 QI2HAHE01 M 500,000 339,355 160,645
= 200,000
< 90,000
s 210,000
02 QIZ2ZE X2 AL 2 (0l & THE) 500,000 339,355 160,645
Ot XS MACT Zo(AH)(4000 L)
1,000,000, 000& x50/ 100 500,000
= 200,000
< 90,000
fia 210,000
AOEAL M ATHE EOI 760 0 760
= 304
< 137
s 319
402 QI2H X201 M 760 0 760
= 304
< 137
s 319
02 P2 E2ALEZ(0IETHE) 760 0 760
Ot MATHE =01 (20)2)
760,000& x100/100 760
2 304
< 137
s 319
MESEFZIHI(S2) 91,243 119,200 AN 27,957
= 45,621
< 13,672
[ia 31,950
402 2I2H X201 M 91,243 119,200 A 27,957
= 45,621
< 13,672
s 31,950
02 QI E2AIS EZ (OIS ) 91,243 119,200 N27,957
Odg=atd AT (S2-1E 1)
114,054,000 *79.999/100 91,243
= 45,621
< 13,672
s 31,950
AL AE THoH 2 2,770 2,582 188
= 1,937
< 250




A
a9 FMY L
SRl U0l ASEH U MAAY B CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 583
402 RI2EX20| A 2,770 2,582 188
= 1,937
< 250
s 583
02 QI EAISEZ (OIS ) 2,770 2,582 188
OREH A2 THEH 221 (1000 4)
2,770,000& *100/100 2,770
= 1,937
= 250
e 583
S0 & LdY=AHXN 4 11,600 40,600 A 29,000
=8I & dI=AHAN 54 11,600 40,600 A 29,000
201 £B-2dH| 4,000 0 4,000
01 At 22/l 1,000 0 1,000
oggad 22 M 2,000& 5004 1,000
03 A2 Z Hl 3,000 0 3,000
Oflotz A0 23l A 3,000,000& =13l 3,000
307 21201 A 7,600 40,600 A 33,000
04 DIZHHALALSE E X 7,600 40,600 A 33,000
OLY=AHI H=2CHE &It
304,000& x25% » 13| 7,600
AETHOH SXHH 25 7,465,954 4,846,003 2,619,951
= 2,855,033
s 624,400
< 782,195
i 3,204,326
A2 TH ol ofl 2 7,037 7,650 A613
XH off Ol & XI & 7,037 7,650 A613
201 et 4,320 2,880 1,440
01 At 22l 4,320 2,880 1,440
OUBYYR =X SHU(BH)
8,000 «6H 9 «12& 4,320
202 odl 2,717 4,770 A2,053
01 = LH o4 1l 2,717 4,770 A 2,053
OUZYYR =X (BH)
11,3203 x5F 42« 128 2,717
=00 = ASH O 1,773,908 1,812,264 A 38,356
= 348,078
< 236,192
e 1,189,638
(gl 96,066 94,169 1,897
101 @144 dl 23,076 21,179 1,897




SA A
M M Mol EXMEH 2=
el A2 Oioh =ASH of (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 2= 18,557 16,717 1,840
O t=2ds & o § 25 Molbl a2 =
=4 18,391
— 6= 12,002 x5 23 Al 2t 53 6,902
—7= 10,8413 x4 H x23A| 2t+53 4,987
— 8= 9,733 *4Hx23A| 2t+5F 4,478
— 9= 8,798 x2H +x23Al 2t x5 2,024
O™ <M &I 18,391,000@ *0.9/100 166
02 JIEtE B = 4,519 4,462 57
Ot=dst & oled S 2SNl Bl&a2F =¢
(HRHEES) 9,733 *4H »23A| 2H+52 4,478
OMRMEH (HAABESH)
4,478,000 *0.9/100 41
201 Yot 2 Y| 39,320 39,320 0
01 At 22l 24,720 24,720 0
Od¢t=2 24 M 6,000& +1,0000H 6,000
OdtE e 2 223 ME
5,000& *4Z 1004 2,000
O&=xd SHIE HME 50,0002 <2001 x23] 2,000
O88 &=0e S 14,720
-3 8,000& »6H x40 1,920
- d 8,000 «4H 402 « 101 & 12,800
02 232gHl 14,600 14,600 0
OdMERE =S 60,0003 +7CH 420
OXsI N3 40,000 +7CH 280
OXsi BE&8& 600,000& +7CH 4,200
OFUERAHI =l ¥ S22
10,0002 = 100CH 1,000
OR4d= JIX= =2l & E=
25,0003 * 120 & 300
OX& =Xt 1,200, 0002 »7CH 8,400
301 LEEAZ 33,670 33,670 0
12 JIEt2 & 32 33,670 33,670 0
Od=22Z A& FFJEIXE 7,000 +37H 1302 33,670
METHOHL K2l SO (AE X 200X SHH) 1,417,180 1,499,033 £81,853
= 285,992
< 212,738
s 918,450
101 Q1 24| 1,393,573 1,475,446 A81,873
= 276,549
< 208,489
[ia 908,535
04 JI12ZtHZ22HEE =+ 1,393,573 1,475,446 A 81,873
OMEX 20 LT 3l (50) 691,372
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L= B
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-

SAMH 7=
F A3 O
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B
ol

HI oM oM

on
= =

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2
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J

o
S
=

O
=z
ML
0y
>
0
)
02

|
o
e
]

10
0
1
o
1
on

10
w
1o
ne
1>
00

— 428 S

69,760& «50H x 150

69,7603 x50H 25

69,7603 x50 x5

379,433,330 «12%

180,000& »50F 23|

69,7603 «612 132

69,7602 x61& x18=

69,7603 x61Z 5

355,158,000 «12%

Mo U R I M Mo Mo A MW

AN A

Mo

523,200
209,280
94,176
219,744
87,200
34,880
15,696
36,624
17,440
6,976
3,139
7,325
45,532
18,213
8,196
19,123
18,000
7,200
3,018
7,782
702,201

561,708
67,405
494,303
76,597
9,192
67,405
21,277
2,553
18,724
42,619
5,114
37,505

M A

23,607
9,443
4,249
9,916

23,587

0° 0K
Ho
02
[==

O

paal
paal
on
10
v
=

4,800,000 4CH

1,101,750 4 CH

U AT

A

19,200

19,200
7.680
3,456
8,064
4,407
4,407
1,763

793
1,851

19,200

4,387

H

4,465
1,786

4,465




SN MDY
g MEMH SXHM 7=
el A2 Oioh =ASH of (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 804
s 1,875
201 24l 4,465 4,465 0
= 1,786
< 804
s 1,875
01 At 22l 4,465 4,465 0
OUE=HHER 22X S 4
8,000& «558.1H 4,465
= 1,786
< 804
e 1,875
MHELNEESRI ES0H 3,400 3,400 0
= 1,360
= 612
s 1,428
202 O4dl 3,400 3,400 0
= 1,360
= 612
s 1,428
01 = LH o4 1l 3,400 3,400 0
O4tE &l st &Sl 20,000 170 3,400
= 1,360
< 612
s 1,428
MEUHYHAH =5 & 2 108,725 96,825 11,900
< 690
s 108,035
201 Let24E] 3,450 0 3,450
< 690
[ 2,760
01 At 2teltl 3,450 0 3,450
Ot 22X 30T 5,000& 2704 1,350
= 270
s 1,080
OLt=2¢3t= M EHI 700,000 x33| 2,100
< 420
= 1,680
308 XtXIEHH SOl A 105,275 93,375 11,900
07 X SHH2LESE S 105,275 93,375 11,900
O&t=dlstE &It 35,091,660& =3CH 105,275
MEUI nEsEE L A 3,972 3,972 0
308 XtXIEHH SOl A 3,972 3,972 0
07 HIXNHMAR2E = 3,972 3,972 0
Ot=Z Al soel s & HOt
397,200& =103l 3,972




2N
X ZH -
L= B

el

A& 1t
At THOH XM 2=
AtETIOH = A3 O )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
SEMSHE2HAIAE 7,800 7,800 0
= 3,120
< 1,404
s 3,276
201 £B-2dH| 7,800 7,800 0
= 3,120
< 1,404
s 3,276
02 =224l 7,800 7,800 0
OQUEZAIE AXZH AIAE(SMZR)
130,000& *60CH 7,800
= 3,120
S 1,404
s 3,276
MENEE SHUEH 25 R 2H 4,000 4,000 0
= 1,600
< 720
s 1,680
405 XHobF S HI 4,000 4,000 0
= 1,600
< 720
s 1,680
01 AL ESFH S 4,000 4,000 0
sHE 28I 7Y 800, 000& «50H 4,000
= 1,600
< 720
[ia 1,680
== Kol RN S ga ] 15,600 15,600 0
= 6,240
< 2,808
e 6,552
405 XHoHE S HI 15,600 0 15,600
= 6,240
< 2,808
e 6,552
01 et EFFHSHI 15,600 0 15,600
(OFas—P/ Rl FSEePSga] 100,000& 1565 15,600
= 6,240
< 2,808
s 6,552
MBLAS RoA2ASHe SNES 8,000 8,000 0
= 3,200
< 1,440
s 3,360
201 Let24d] 8,000 8,000 0
= 3,200
< 1,440
[ia 3,360




2N
X ZH -
L= B

el

XA 2=
lofl X435 =

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 e 2
02 =224l 8,000 0 8,000
OfelZAldtdet KX+ 2,000,000% *4CH 8,000
= 3,200
< 1,440
[ia 3,360
M2 2 Y HH =5 10,000 10,000 0
201 Let2d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
Oguts =28 MH FE HI&
,000& »300H x23l 3,000
Oguts =28 MH o 2 ZE A
= 20,000 *3004 6,000
Ooguts =8 A E=5
2,500% *4Z x 1004 1,000
EFAE R AME HA 11,700 11,700 0
= 4,680
< 2,106
i 4,914
201 Let2d] 11,700 11,700 0
= 4,680
= 2,106
e 4,914
01 At 22l 4,500 4,500 0
ON=/E 2 AFX HMA g iz
4,500,000 = 1CH 4,500
= 1,800
< 810
[ia 1,890
02 =224l 7,200 7,200 0
OM=ERE R ALY A &sitE |FFHI
7,200,000 = 1CH 7,200
= 2,880
< 1,296
s 3,024
MEAE X A 49,700 0 49,700
= 19,880
< 8,946
[ia 20,874
401 Al BIZ 201 8] 49,700 0 49,700
= 19,880
< 8,946
e 20,874
01 A& HI 49,700 0 49,700
O&2AE X ZA 49,700,000 =10 & 49,700
= 19,880
= 8,946
s 20,874
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2N
X ZH -
L= B

el

SAAM 25
XA CHH (cho &)

oz

B =k
ol

HI oM oM

on
= =

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

CHAAHE R o 9,000 0 9,000
9,000

H

401 AIEHIZ 2 I 9,000 0 9,000
9,000

H

01 A& HI 9,000 0 9,000
OdRFE2E HAMEH S 9,000,000 *14] 9,000
9,000

H

A = ALK~ 15,000 0 15,000
7,500
2,250
5,250

Mo H

201 fEt2E | 12,000 0 12,000
6,000
1,800
4,200

Mo H

]l 2,000 0 2,000
OUESEANEIEZES 500,000& »x2H 1,000
500
160
350
S B2 =3 MZ 25,0008 #2001 25 1,000
500
150
350
=294l 10,000 0 10,000
ES i (GPS S)& I 5,000,000 *2CH 10,000

5,000

1,500
3,500

O
B
o
H
MW

Mo A

HH A

202 O Hl 2,400 0 2,400
1,200
360
840

HH A

= LH O HI 2,400 0 2,400
OSME=ALE SHI 200,000& ~12& 2,400
1,200

360
840

Mo A

301 LEEHS 600 0 600
300
90
210

MW

243 600 0 600
O& el oyl 25,0003 243 600
300

90
210

MW




SRR}
g MEMH SXHM 7=
ol METIGH FAS O CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
&= I AH S &S AlAH 8,500 0 8,500
= 3,400
< 1,530
s 3,570
405 XHobF S HI 8,500 0 8,500
= 3,400
< 1,530
s 3,570
01 et ESFH S 8,500 0 8,500
O&tZ2 I A S &I SHAl A &l 8,500,000 *1CH 8,500
= 3,400
< 1,530
[ia 3,570
MEHssdE L XA 800 0 800
= 320
& 144
i 336
405 XHoHE S HI 800 0 800
= 320
& 144
e 336
01 et EFFHSHI 800 0 800
OUMEXALZAZHANESY 800,000 =14 800
= 320
= 144
s 336
st g s =l 2H 213,932 217,976 24,044
= 107,115
< 30,538
[ia 76,279
A BHGF S A 5,000 10,000 25,000
206 = Hl 5,000 10,000 A5,000
01 MHZ 4l 5,000 10,000 A5,000
O4ttddollE ZHA3S ¢ 20,0003 %2504 5,000
UBHHN S LM (EX) 125,394 125,479 A 85
= 65,350
< 18,006
s 42,038
201 ¢er24l 9,894 7,479 2,415
2 4,946
< 1,307
s 3,641
01 At 2t 2l 9,894 7,479 2,415
Otz EallE M 23 7€ 44,790 +100& 4,479
= 2,239
< 658
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2N
X ZH -
L= B

el

SAMH 7=

6H o
s =21 Al (Sl & &)

0F =K

on

oz oz
0 QU oo

ir
x

CHE - EI(SA) - NRAY - B S 0] &k o4

=

M
2
==
£l
Ol
0y

1,582

, 1503 5001 x23! 5,415
2,707

649
2,059

Mo H

206 M= Hl 25,000 25,000 0
13,051
3,750
8,199

MW

01 M= dl 25,000 25,000 0
=2  25,000&1,000& 25,000
13,051

3,750
8,199

0
2
oo
0
%
O
02
=
I
O

HH W

401 AIEBIZ S CHYI 60,500 93,000 A 32,500
31,460
8,651
20,389

HH W

01 A& HI 60,500 93,000 A 32,500

te gl s 2HAE 100, 000& *605ha 60,500

31,460
8,651
20,389

Mo A

405 TtobH S| 30,000 0 30,000
15,893
4,298
9,809

MR

01 &t

rx
He
1o
id
at]
an
o

30,000 0 30,000

O

0F

:Oé

Of

ne

0z

2

1]

P

>

0t

n

_ M
o

S o

§D1n
m
*+ (9

20 30,000
15,893
4,298
9,809

MW

At THOH 2 Ktel ZJI (M HHS ol

it
0z
2
o
o
0z

78,343 77,551 792

39,167
11,753
27,423

HH A

101 1Al 78,343 77,551 792

39,167
11,753
27,423

MW

04 JIZtHZ22 s+ 78,343 77,551 792
O ZZH et (4Y) 78,343

—JlZs 69,7603 x4 200 55,808

27,904

8,371
19,533

Mo A




2N
X ZH -
L= B

el

-

SAMH 7=

6H o
HE =J1 2H

0F =K

on

oz oz
0 QU oo

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

-5 69,7603 x4 37 .5 10,464
= 5,231
< 1,570
s 3,663
Bl PN RSy 69,7603 x50 3,488
= 1,743
< 525
s 1,220
—4d2E= 40,600,000 x12% 4,872
= 2,435
= 730
[ia 1,707
—gH= 2 gHs 7  363,875% x4H x23| 2,911
= 1,454
< 437
i 1,020
—gE nsl 200,000 »4H 800
= 400
< 120
[ia 280

MEd =202 A 2,500 2,251 249
= 1,250
= 375
[ 875

201 L2l 2,500 2,251 249
= 1,250
= 375
= 875

01 At 22l 2,500 2,251 249

O+272 MER MEEHE U2 HaY

250,000 * 1004 2 2,500
= 1,250
< 375
i 875

St THO 2 Rtel EI(MHEHS WSS (H2)) 2,695 2,695 0
= 1,348
< 404
s 943

405 XHoHE S HI 2,695 2,695 0
= 1,348
< 404
e 943

01 et EFHSHI 2,695 2,695 0

ONZLHE HE £ ML 2

269,500& x10& 2,695
= 1,348
= 404
[ia 943

LA 1,595,748 2,623,575 A 1,027,827




A
M M Mol EXMEH 2=
el 2EE (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
ey 624,400
< 492,623
= 478,725
UTAIS (MEHNF)(NMHMI2) (L) 892,000 1,844,565 A 952,565
= 624,400
= 267,600
401 Al& I 28I 892,000 1,844,565 A 952,565
= 624,400
= 267,600
01 A& HI 868,718 1,796,422 AN927,704
Ot S A A& AL (4. 0km)
892,000,000% *97.3899/100 868,718
s 608, 102
= 260,616
02 Zeltl 17,840 34,862 A17,022
Ot AT A& AFR (4.0km)
892,000,000% *2.0/100 17,840
= 12,488
i 5,352
03 AIE 2 0H I 5,442 13,281 AT,839
Ot AT A& AFR (4.0km)
892,000,000& *0.61/100 5,442
as 3,810
[ 1,632
AT AE (MEAF)(KNAMAS) (LM ) (MEALS 289,940 289,940 0
)
< 202,958
i 86,982
401 AIEBIZ 28I 289,940 289,940 0
< 202,958
[ 86,982
01 A& Hl 282,866 282,866 0
OZH AT MM AN (2.0km) (X 8H)
270,000,000% *97.38/100 262,926
= 184,040
s 78,886
OLS AL AHI (& &) 9,970,000& *2JH 2~ 19,940
< 13,958
e 5,982
02 Zeltl 5,130 5,130 0
OZP AT AA AL (2.0km) (X &)
270,000,000% *1.9/100 5,130
< 3,600
e 1,530
03 AIE 2 0H bl 1,944 1,944 0
OZF AT MM AL (2.0km) (& 8H)
270,000,000& *0.72/100 1,944
< 1,360
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2N
X ZH -
L= B

el
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Hol ZXMH 7=
& (Sl & &)

ez

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2

584

HJ

YoANE (MEHE)(NMMA2)(L=2el)(HEASY 413,808 489,070 AT5,262

289,665
124,143

Mo

101 @124 4] 53,308 58,810 A5,502

37,315
15,993

EURLY

04 DIt Z22XsSE+ 53,308 58,810 A5,502
Ogcaela(4g)(de) 53,308
—Jles 69,7603 *4H «150L 41,856
29,299
12,557
69,7603 x4 «20== 5,581
3,906
1,675
—4H2E= 40,590,000 *12% 4,871
3,410
1,461
b S 250,000& x4 S 1,000
700
300

Mo

10
0
o
Jon
1
o

EUNL

VY

I
2
e
il

=
2
r
fon

bl

EUNL

201 ¢er24| 2,500 3,000 A 500

1,750
750

EUNE

01 AF22t2l bl 2,500 3,000 A 500
Oogzzel 28 7 (d&) 50,000& *50% 2,500

1,750
750

EURLY

401 AIEBIZ 2] 358,000 427,260 A69,260
250,600
107,400

M

01 A€ HI 344,000 420, 160 AT6,160
OLERZNE ALY (4.0km) (& &)
268,000, 000& *94.7761/100 254,000

177,800
76,200

M H

OLE 24 At (20.0km) (& &)
4,500,000 *20.0km 90,000

63,000
27,000

02 Zeldl 12,060 5,140 6,920

LE P EINSEALL (4.0km) (A &)
268,000, 000& *4.5/100 12,060

8,442
3,618

03 Al S THHI 1,940 1,960 220

O
U

Mo




2N
X ZH -
L= B
el

-

N oV g

R |

[}

t
Hol ZXMH 7=

e
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00 rx rx

- RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
OLE=AZINS AL (4.0km) (& &)
268,000,000 x0.7238/100 1,940
& 1,358
= 582
AFEFAFS 3,875,329 184,538 3,690,791
= 2,399,840
& 22,842
= 1,452,647
AEIAIA 22to Olalsl & 1,069 1,069 0
308 XX SHAHSOIH 1,069 1,069 0
07 AIXSHHM2REES S 1,069 1,069 0
OAMEAFS (AFREX] B 540HA)
219,800 x541 A +9/100 1,069
ArEEH ETES O K& 1,412 1,059 353
308 XX SHHSOIH 1,412 1,059 353
07 X SHH2AESZ 1,412 1,059 353
OAHEFAFS (AL BtEEA THDF, 4H)
3,922,000 *421x9/100 1,412
AtEEAIS EFESE O K& 825 750 75
308 MXISHHMSOIA 825 750 75
07 MHXHH2AESZ 825 750 75
OAFEFAFS (AFEFALS! BFEEA T DL, 22)
4,583,000 x224%9/100 825
Argregol Z=apa 4,410 4,410 0
308 XHXIGHSO0|& 4,410 4,410 0
07 AXSHHZ2HESS S 4,410 4,410 0
OA ST 24| (AMSHEL 7 A)
7,000,000 *7IH 2~ *9/100 4,410
AL Al 90,000 67,500 22,500
308 XHXIEHSO|A 90,000 67,500 22,500
07 NXSHH2ESSZ2 90,000 67,500 22,500
OAFEEAFS (AP EEEH 4D0A)
250,000,000 *4JH*x9/100 90,000
HEEHAA 34,876 34,876 0
308 AXISHAHSOIHA 34,876 34,876 0]
07 NIXSHHM2AREES 2 34,876 34,876 0
OAMNBAIS (HEEH,2km)
193,755,000 »2km*9/ 34,876
A2 THOH L Kbl SHO| (AFAFEH S ZH0l B &) 54,387 53,652 735
= 21,755
o= 22,842
= 9,790




A
M M Mol EXMEH 2=
Chel s AP A (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
101 14 Hl 47,868 45,472 2,396
= 19,146
< 20,168
s 8,554
04 JIZHHZ2XREES 47,868 45,472 2,396
O&HALEY B & Ol 2 &H(3Y) 47,868
—Jlgs 69,7603 x3H x150 31,392
= 12,556
= 13,376
i 5,460
-5 69,7603 x3Y x50 10,464
= 4,186
< 4,290
s 1,988
—4AHEE = 40,600,000& *12% 4,872
= 1,949
= 2,046
s 877
—W=ssdl 100,000 *3H x 13| 300
= 120
< 120
[ia 60
—&gs % otds S 280,000& x3H 840
= 335
< 336
s 169
201 L2l 6,519 8,180 A 1,661
= 2,609
< 2,674
[ia 1,236
01 At 22l 4,519 5,180 A661
OLAMERFH XS M2ATIE 2l HI
50,000& x10& 500
= 200
= 200
s 100
O & HgE2Z 7€ 280,000& x13] 280
= 113
< 113
[ia 54
OXt&xt 3,339,000 = 1CH 3,339
= 1,336
< 1,401
s 602
OALALEY HAXGRE A =&
100,000 »4H x 13| 400
= 160
= 160
= 80




SH: D
Mz MO XA 2=
el AEEARYS (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 2224 H| 2,000 3,000 A 1,000
Ow&H| 2,000,000 «1CH 2,000
= 800
o= 800
= 400
APAFER F XS L ATEAIE 22 120,000 20,000 100,000
401 AlEHIZ 2 0HY| 120,000 20,000 100,000
01 Al& B 120,000 20,000 100,000
OMEAYE B 2 =4 10,000,000 104 A 100,000
OLFAFEI F 24X D AEfEA 24
800, 000& *25JH A~ 20,000
At Mol ™A 1,222 1,222 0
308 XX SHAHSOIA 1,222 1,222 0
07 X SHH2AESZ 1,222 1,222 0
OAMEAS (At HUAEA | H5H)
2,715,000€ x524%8.995/100 1,222
M THOH M X 21 =2 28| (2XH2) 3,567,128 0 3,567,128
= 2,378,085
= 1,189,043
401 Al HI L £ 0HHI 3,567,128 0 3,567,128
= 2,378,085
= 1,189,043
01 Al& H| 3,474,805 0 3,474,805
Odtd S 20|61 MHHEPRAS
69,496, 100 x500H A~ 3,474,805
= 2,308,844
= 1,165,961
02 22|l 92,323 0 92,323
Odte S 21|60 MHHEPRAS
3,474 ,805,000 x2.65692/100 92,323
= 69,241
= 23,082
ZEXNEAMEIINSE =4 NS 2,296,408 0 2,296,408
& 1,145,000
= 1,151,408
MEXSE X4 L HAAHAMY =4 2,296,408 0 2,296,408
= 1,145,000
iy 1,151,408
MEIXRE X4 XS 6,408 0 6,408
201 2Et24A Y| 3,288 0 3,288
01 AP 22| d| 3,288 0 3,288
OUEXRYR =X SHUI(BH)
8,000 x2H x92 x12& 1,728




SRR}
MY YNGAMYIRY 4 L
Celr MEZISE Z4 U AXAY =X (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
OdHAE =R HEE 2 2F32 =
70,0003 x2H x43| 560
O=xg&ds & 39 =& 200,000 x53| 1,000
202 oddl 3,120 0 3,120
01 SLHOYI 3,120 0 3,120
OUEIRAS ZX(BY)
13,0003 x2H 102 128 3,120
SHANGSHMEXNRREY g 2EEAY =8 2,150,000 0 2,150,000
< 1,075,000
e 1,075,000
401 Al HIZ 201 8] 2,150,000 0 2,150,000
= 1,075,000
e 1,075,000
01 A& HI 2,109,580 0 2,109,580
Odta XMelAld 54
2,150,000,000& *98.12/100 2,109,580
< 1,054,790
i 1,054,790
02 2feldl 32,680 0 32,680
Odta XMelAld 54
2,150,000,000& *1.52/100 32,680
< 16,340
s 16,340
03 Al =TI 7,740 0 7,740
Obdt= MelAd 84
2,150,000,000& *0.36/100 7,740
< 3,870
[ia 3,870
SE NGNS NSHAAHZSALY 140,000 0 140,000
< 70,000
e 70,000
201 L2l 120,000 0 120,000
< 60,000
e 60,000
01 At 22l 120,000 0 120,000
OXgHA s XA & A s 24 &
& 120,000, 000& 14! 120,000
< 60,000
[ia 60,000
301 LEPENZF 20,000 0 20,000
< 10,000
fia 10,000
12 JIEtE4 3 20,000 0 20,000
O¢EXNsE20 24 N&  1,000,000& 20H 20,000
< 10,000
s 10,000




M g
HA: #F¥2IHH(&4En)
Chel: ol 2oyl (MR ) (Sl &)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
HY2HIH (&) 166,600 171,479 AN4,879
ol 2| (A& D) 133,874 138,938 A5,064
ol 2yl (ard ) 133,874 138,938 Ab5,064
101 1244l 133,874 138,938 A5,064
01 2= 96,807 87,208 9,599
OAlZte 22+ 95,943
— 6= 12,0028 «*5H x50l 2tx 123 36,006
—73 10,8413 »4H «50Al 2t x 12 26,019
—83 9,733 x4 x50Al 2t 12 23,360
-9 8,798 x2& 50 A| 2t 12 10,558
OXM<SIH&HI 95,943,000% *0.9/100 864
02 JIEt X E = 23,571 23,276 295
OAZe 2R4g(ANURS) 23,360
—HANYBE A
9,733& x4 +50A| 2tx 12 23,360
OXMPIMHHH(HRALBES)
23,360,000 %0.9/100 211
03 RIHAZ2NE > 13,496 28,454 A 14,958
OAlIRtel 2R (RI1H ) 12,921
-2 17,5983 x 1H «15A| 2 x12E 3,168
—823 17,7423 2B »15A1 2t% 128 6,388
— 145 S 18,6893 x1H «15A| 2+ 12E 3,365
Of2R=E(RIA ) 575
—-73= 140, 7843 » 18«1 141
—823 141,936 »2& 1 284
— 1458 149,520 » 18 +1 150
JlEdyl (& n) 32,726 32,541 185
2 (&g ) 32,726 32,541 185
201 fEt2E | 21,226 19,341 1,885
01 At 2t 2l bl 20,400 18,215 2,185
OARIII2EHI (5%) 220,000 x50 & ~122 13,200
OHER==2(5Y) 200,000& =12& 2,400
OJIEt2ZHI (%) 4,045,000 * 14! 4,045
OF=JIds(8H) 62,900 x 12 755
02 S3=29Hl 826 1,126 A 300
Otlgxel fER= 2,000 #2503! 500
OA&gsrdE 27,1308 x 12 326
202 o4 5,400 5,400 0
01 S LY 5,400 5,400 0
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